Honors Physics Name

Net Forces - 3
Newton’s Laws Period

Fhee=ma F,=mg g=298 m/sz

1. A netforce is required when you want to cause an
object to..... (Select all that apply)

accelerate = changing velocity
@. speed up.

b. keep moving at a constant velocity.
©)come to a stop.

d. stay at rest.
(& change directions.

2. The diagram below shows a cart that is accelerated to the

right. Which of the following correctly represents the forces
acting on the cart?

F3 H\F1= Fo,F3=F4
1 b.Fi1>F>, F3><E4

< Fi<F2, Fs=F4
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e Fi=F,F3>F4
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3. Arockhasa weigla of 81.5 N when it is loaded onto the

B e Y

lunar lander on the moon where the acceleration due to

gravity is cauWhat is the mass of the rock?

Fﬁ'z Ma - M <SO k.a
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What is the weight of the rock when it is unloaded on earth?
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4. Which of the following would properly measure your mass both
on the moon and on earth?

~&_ A farce probe like the one we used in lab.
_A. An electronic scale.
A balance that has masses on both sides of a pivot.

_a* A bathroom scale.

5. 'LNC/ +(on IS the property of mater that resists
changes in motion of an object.

6. Draw a Free body diagram of a person standing on a
bathroom scale. What accounts for the value your weight that
you read in the display?

71;" * The scale is reading the normal force that it is applying to you.

The scale pushes back on you equal to your weight.
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7. A Ieaf(weighing 1.0 N)’s),r?élling from a tree at constant velocity.

Draw the FBD of the leaf.
Foyr

- Write the Fnet equation for the leaf.
FNQJ'}' -0 Fnet =0

. Fair - fg =0
-y . .
- What'is the force of air resistance?

Fa swesh Fair - Fg =0

Fair - 1.0 =0 Fair=IN
8. The object below has a net force of 15 N to the right. What are
the values of A and B? /
30N -
F}INQJ':'O Lewet =15
R -25=)5
25N - > A 30 ,6 -~ O

A=4o N

;3730 = —














































